
Keep the thesis 
statement general.
do not mention 
specific details in it

Manifestation of gender imbalance in the work force.

elaborate more, make the heading more
specific

Very generic and vague. All of the above are
manifestations of patriarchal society

positions

In what aspect? how does that relate to the imbalance in the
workforce

Something cannot be the cause and the effect

How do these relate to economic
progress

overlaps with (a)
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elaborate??

elaborate??

it comes to front in the form of

these neither read like causes nor 
manifestations

Incorrect. Patriarchal
society promotes 
gendered imbalance
in the workforce.

Incorrect use of the word

Wage gap is something that shows the imbalance, it is not the effect of imbalance

How is that different from economic output?

Outline lacks in depth analysis of the
topic. Very superficial overview of the 
topic. There are 2 aspects of your outline,
Gender Imbalance and Economic Progress
First discuss how Gender Imbalance
is manifested, or visible in the workforce.
then address how it hampers economic
growth
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ways forward

What sort of? Your are suggesting something, so your
suggestion be proper.

Sentence structure: The gender imbalance in the workforce is a 
multifaceted challenge to the economic growth

Where is Overview paragraph?

Sentence structure: semantics

Topic sentence is unclear. What is it about? does it highlight the gender imbalance or is it about the economic challenge?

Where is the supporting point or your analysis? 

for the same job? in general? what criteria are your applying. clarify
it.

What is the purpose of the paragraph? It should be evident from the topic
sentence. For example, 
Gender based barriers in entrepreneurship are one of the manifestations
of gendered imbalance in the workforce.

Over-complicated
sentence. Does not
really say anything.

Sentence is incomplete.

in
starting
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Sentence structure: semantics and syntax

n

Do not define terms in your essay.

You are explaining what 
occupational segregation is
and how it is prevalant in the
workforce.

Unclear concluding sentence.

the paragraph
is purposeless.
It does not prove
anything, there
is no analysis.

factor of what? Incorrect use of the word factor. Definition of factor is a circumstance, fact, or influence that contributes to a result.

How does that relate to 
workforce imbalance?

generalised and redundant. All the above mentioned points
are manifestation of patriarchal order.

Sentence structure
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Sentence structure: semantics

Irrelevant. Unrelated to workforce imbalance.
Too many factors other thanemployement and 
segregation involved in the woman being a 
head of the state.

Expression

Along with partiarchal society, limited access to leadership positions is another manifestation
gender imbalance in the workforce.

You need two entities for comparaison, there is only one in this sentence.have

It is unclear throughout
the essay that whether
you are discussing the 
cause or the impacts of
gender imbalance.

Leadership positions in workforce does not mean
statehead. It means leadership position in organisations
such as CEOs, CFOs, CTO. General 
and executive managers and other such positions.

what sort of training programmes? how do they effect
workforce imbalance gender wise.

lack of

to?

Sentence is incomplete.

You cannot repeat
evidence
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sentence structure

the

That is not a complete sentence. Each and every word
should have a purpose.

Incoherent sentence

??

sentence structure?

you are not giving solutions. this reads like you are writing solutions

The example does not relate to economic output

You can either discuss something as
a cause or an effect. Not both.

expression is not suitable
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how to make it equal
way forward should be around
that

that is a very specific labour law. you have made
a generic argument
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very generic. Not
specific to workforce
imbalance not economic
growth

the paragraph
is purposeless.
It does not prove
anything, there
is no analysis.

a
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This is unrelated to
your topic
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 Category Total marks Obtained marks 

 
Content 

Qualitative analysis 10 1 

Quantitative analysis 10 1 

Validity & Reliability 10 1 

Relevance 10 1 

 
Language 

Sentence structure 5 0 

Vocabulary 5 1 

Clarity 5 0 

Command of language 5 0 

Expression 5 0 

 
Structure 

Outline 5 1 

Introduction 5 1 

Body paragraphs 5 1 

Conclusion 5 0 

Coherence Cohesion  5 0 

Coherence 10 0 

Total 8 

 


